by
A
G Gz'89 |G 0001 |2 oLzl |s 08kl ¥ 0611 |S 0€0l |¥ G121 =X YH| X¥ E3[loc |6
¥ 09'1L € Gazl |e G0zl ¥ Ge'LL |G GG'LL ¥ oLl |1 vzl EXHE X&) LT|E0C |
e GLzL (v WATHE Gzl |1 GLel |e GZel |¢€ Ge'Ll |s GLLE =Y ¥Hl Y9 #ELv0T |¢
4 oevL (1 ceel s GLLL |€ 0zcl |2 0scl |1 oLz |1 ov'el EYHHE] Y Ww\(||c0z [z
1 vyl |2 GLCl |¥ 08’Ll |2 arzl |1 GGzl |2 052l |1 vl XYM ZE HM|c0c (L
mal Se o] womE]  wenE FglmE| o FETmE| SeTE]  ¥E =1 A _w L ,_
S Y3 L | o=y | ®ew | oEwE | e | T ]|
A2 fe P <
WL EEEHHY SYEYHEEZE99E 9¢H




i

LERF FRE

#66ERRATASKEREONEI-DAT; H26-7-5
BFER Nod BEAEE
A E I I ™ HA% Yk B & T & 1% & &t
Sl EIROF &L - — - - R
e = Ba e @A JEE @A Jre B PR @a JaE es EG BA DEd
INEREY HE 60]4 | 10605 . : _ ) 365 3
% B B 12 11855 | 1345|1 | 1205{4 | 1310}t | 7365 A
2l = s Al1] oool24] 1020{8 | 11506 0. ; ) 4470 | 15 '
% £ A 1 00f23| 1185]6 | 11.15|7 13 | P—
1 ;
B o |« 1| 1210{12| 10507 995{10| 117 005 606 | 6785) 6
i oKk 1 1707 ] 1200 11 ‘ AR
R : :
sl % 3 Al 1] 12406 9.65 | 11 965 |11| 1050 13| 1030 11| 100010 | 6250 |10 [|ureenr,
AZ}Z
17| 8 # 1] ss0|0| 105{22| osol|2| si10|t8] 120|20] o022 | 1785121 "

. MR —R¥EEEB
~| 18 = = 1| 100|238 105|22| o055 5.30 90|22 09022 | 97024 '
" % = 21 | 22| 090 2 EE

1-[2 : -
1 _ 0.85 |24 30 |23 ! ) . 25| 25
2|s olr 2 x 1.50 | 22 0.30 |2 000 (23| 080[23| os0f2a| a2slos|| ..
Blazlg # & 2| 1105 2.65 2.95 9.40 3.60 1.20 30.85
T ;
| B M8 a0 a5 000l®| s2s|7| 1e0|'| 220[10| OO ppss
I 000 %] 200]%°| 165|"°| o000|®| 200" 4so|] MBI s,
318 15 w A e 220 [¥ 1.90 | ! 050 | 22 7.00 | 00 |2 TN il ] fl | BN
= Sy
Alg|® 2 & X1 251 930|V7 110 (21| 11020 | 1875 |20 H ppeps,
- S 2| 1210 12| 1065 0 : . . aele oo
il E = 12.10 |1 1 4| reoola o s2a0fa ) treofs | r2es|3 | o7is0fe |l
1 83| 12201 . . . . 7125 5 v E
. § =3 12.8 11407 | 12055 | 1210(3 | 10708 | 7125|5 [|..
1- . . :
A £ &3 . -9.70 [10 55 |13 . ) . 61.90 i
AN 12.05 | 14 9.55 |1 1060 |12 | 1030 |11 970 |13 | 6190 |11 [} oo
i 0L 10 Neaema
#l, |n ] 3 : 9.20 o107l
flojmy ® 1235 | 8 12| 12153 | 109010 | 11109 | 11904 | 67607 [|_
1|3 P N | e
3 ! 20 |13 : X 80 |- ) 61,
5| sl & == 1260 | 4 6.20 |1 1095]8 | 1115|909 | 118017 90016 | 6t0fr2fl o
Ala|x s m&{2] 1152 | 1060|5 | 1235|2 | 13302 | t245(1 | w855 | 02| .o
~Rf3. ’
101/F ¥ X s3] 13501 | 12102 | 1265|1 | 1320|3 | 12402 | 1285|2 | 7670 1 LEd
02 il 2| 12309 975 9 9.20 65 ‘110010 55|14 |“ 6345] 9" L
o12F % t 20{15| 11658 | 11001 3.4 .
16; 03|=ps e @2 1225(10| 430]16| o930{14| 107511 6.05 (15| 1045]9 | 531013 i
i , =
toaffe % A B3| 1010(16| 585|14] o000|24| 101016 | o000 (25| 980 (11| 3585[18 |}, 0
e
2 3 2401 6 2.80 |19 { 10. 75 ) 6 0.00 125 |- 2870 | 16 '
ot B & B 1 35| 9 775 |19 | 540 |1 2 _ PRSI
P 2 10|16 ] 30018 85 (18 ) 60 35|17 (371017
%ao FE oK R 10.10 |1 1.85 |1 1020 (15| 360|17| 8351 10117 || s
1 ‘ :
#Aulw £ s 190 |15 1075]3 9.60 80 90013 975{12| 6370’8
7|8 #H 15 1 60 12| 118016 9901 1 7 PR
B o
Bl &  E| 1| 1225(10| ,520(15| 59516 | 1050 (13| 655(14| 030[15| 4075 |14 ||ee
. g
FHE

/;}/

A

¥



TH26%E Ee6EERKETASRERTE

KEME PEXTERE H26:7-5 REGHEE
Eiﬂiﬁ No.i
i & L BE | BB T L= B LT/ ERRE S I N
ElEle o2 oalfl— T2 L LAL S s 1D — = it
wlals | @ | R 7R B |18 VAL | S MR T ] 1BR ML &
T E 12.20 2 8.10 5 8.90 1 10.60 5 39.80 6 H:zirmgm
1 ;wz FE & h M3 1250 ! 9.25 2 11.00 2 11.55 1 4430 Vliugs
é % 1074 B = 2 o3 11.90 4 7.80 6 960 5 10.30 6 39.60 THiesms
Allos |l B B |3 9.30 8 740 7 9.35 6 8.80 9 34.85 8 | &R
Tlm B Xk #2 9.00 9 6.55 9 5.00 10 9.15 7 29.70 9 ||ems
1@l 8| # & w2 875 10 3.00 10 6.50 9 7.20 10 25.45 10 nans
:-3 41 8 # M@ 11.40 7 9.20 3 10.65 4 9.15 7 4040 4| —mzms
508 & % B 170} 6 9.60 i 10.90 3 10.30
103 |9 R # M2 12.65 0 9.10 0 0 10.25 0 42.70 o litmm
1 ,ﬁ:.;104 w o & R 2 11.95 0 10.50 0 11.10 ] 10.05 0 43.60 ol r/hggem
; % 05|58 M & &2 12.75 0 9.00 0 11.50 0 10.45 0 43.70 0 |lit%m
glios |B # # Bl 11.80 0 9.80 0 10.95 0 10.75 0 o ||t
: :3: L ;;‘-53- : = : Dk :, k : SR L
01T & R M2 *r *r 7 — BE-S
1 '{;&] e = Xz *r *r *ry — BE-
= 12|F @8 & A1 11.80 5 8.75 4 8.45 8 10.85 4 39.85 5|lem=5
503 -
§ 8 11.40 1 1080 2 4120 |zEEsaEarES
1|8
- |A
5|8
THSARZ ey
= fazand — 8
R23FE HFe2ARREFREFI—_EFE ,
=N 3. 3 = . A
RSN REXTFEAR Hee-7-5 REATE
X = 12.70 1 11.15 [ 10.55 2 10.80 2 45.20 2 Hiwgxze
1 zzoz % X 7 F 12.20 2 10.05 2 11.95 1 11.55 1 45.75 H gk
'S
=




kg BFEAGK
|= : L (B ” : " I
H BER FohaEER) |¥E # OB AR B & Bl
1 T Bt HRETIEHR (20| 1 Yoy 8.150 3
2 ik ik BTG IESE G| 1 %) 6.900 4
3 BiE WO | EEWISKEGETR)| 2 Uy 8.600 2
4 ey Re EEHISE(BENR| 2 gy 8.850 1
& BER F-nzEEE) |26 @ o8B |mpm| & a  |HAN
= VR sz
5 ®m W ERGISR@GER| 2 | 457 213
6 Hh B BT IER(GaNR)| 1 957 11 7.850 1
7 BR Ew EETISHREGER| 3 | 977 13 7.250 2
8 o B EEmESRGE| 8 | 5357 15 3
9 B Hix BEHISRGRR| 3 | 957 =i
& BEA FoL&EEE) (4] B OB | REE & A e
= N fiL
10 m T5% EETLEGRE) | 1 | ATYY 8.050 3
1" 5% X BEFIERGERS | 1 | ZT4vY 6.900 6
12 B EA REHLER SR 2 | RFavY e
13 X Wk BETIER(GFEAM| 2 | ATa4vY 7.300 4
14 BR &% HETIARGENR)| 2 | ATV 7.150 5
15 2 % |sEdIEREER®| 3 | ATy 8.950 2
16 e B BRETIEREGENE)| 3 | ATV 9.150 1
17 Bm @ BEHIER(BaF)| 2 | ATV i
kg BFEERR
Tle T # B &
.| B : # ez
rak: K & P K & seop| M| MR | HRIE | MR | &F
Blol Zw B 0| HWkm |2
-I:ﬁ- S 1'/5-'2 Jary 3 ¥ gr 2
3 ;’;Ii(a Ea\_ ’:ﬁf 1 | 8000 | 8100 [-1500 | 14.600 1
MR s o | %) B A |
*)& #f 125 LEY 1 +h 2 2w i
B EE B e Bt
% - Prelrd %Eﬂaj{ 3 véaEH Z;y 2
i #D ~ FALX 9 L aos 2 ﬁ*ﬁ
1= a3 R HK !
x| & 95, Ly 2 w0 ansoY 9
A HWIZH & ) E EAM
oy e
YR /%7 %} - —




%66 SFREAEAE RFHHE BEFBE H2676 SFREEKER

1 BkBe

NE sz #iR4 SikE eI BAGS &Et
B14L BEE= 10.600 7.6375 18.2375
E2fd
$£3{u

2 MK

[I=Fiva 24 CI-

F1{u EEE= 10.600
2

E3M

3 EAEB

&R 72—

Bz #14 BF 2 B
E1 REE= /N B 9.150
Zofy dt EFHkIRSST| ki BERD 9.100
B34 HES JN#t 3 4150
tEH R—I § _
EhL - o 5 BFEA - BR
B - BEE= EAK Fib& 8.950
$ofu el ok 20 ] A 8.850
E34 HEE CIAE R 4.350
R 937 ,

NE sz PRA EF A #BR
E16L Tt EEiKESSD A = 7.800
E2fu BREE= Bk B 6.200
3L

¥R YR

[-Fiva = HEFR B
E . BERE= egg iz 6.250
FEofi A BHE REX 6.200
SE3fL HES& i EBHF 4.650

e R T 7 5



AR ZTFEARRK

7e " & T EAmAes)
LBl mEE e | @8 |B | A
2 £ & D E Be | RER E &it [1/4()
INEIS B 1 | 77| 2| 3850[ 5300 9.150 | 1
=% *EE sas nEE i , '
g || Ak Fhs 2 FR—| 5| 3750 5200 8.950 | 1
= 30.550 |7.6375
E; Fuk ek 1 #9578 2250 4250 0300 6200 2
¥ s 3 & UKy |10f 1650 4600 6.250 | 1
b|d 1: 2% ¥ s
TiE i 2 F|AR—|4] 3750 5150| 0050| 8850| 2
)
%
Lt F Y B S
B mma 1 & URY |11 1750 4500 | 0050 | 6200 2
& % 1 & 2—F|1| o150 4000 4150 | 3
IR ——
B|{F| %% &5 2 F|R-u|6| 0550 3.800 4350 | 3
B
&%
F |
HE mer 2 & URV| 9] 0600 4050 4650 | 3
1’2 4 Lt By 8 & 7—F|3| 4100} 5000 | 9.100 | 2
|t
&
. .
*,’;E‘,,_ir; Bl & 1% 957|7| s000| 4800 7.800 | 1
7 |F
7
LY
H|E
T|#&E
REd
GES
2| &
i L By BeE uRy 12| sas0| 5200 8.350

R R TS




